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y'=y(1)

x2y'+y=0(2)

v+ Dxy' = (x -1y =0(3)
+x)y' +y—-x=0(4)

xy' =y =x2 +y% (5)

y*+x%y' = xyy' (6)

(% +y2)y" = 2xy (7)

y' -2 =(x+1)*(8)

y+y' =e(9)

1+x)y —[2y + (x+ 1)*] =0 (10)
xlnx - y' —y = x33lnx — 1) (11)
S-cost+s-sint=1(12)

y' + 2y =y%e* (13)

(x+ DO +2y) = -y (14)

(3x2 + 2xy + y¥)dx + (x? + y?)dy = 0 (15)
(e +x—1)y' =1(16)

dx + G— siny) dy =0(17)

ydx + 2xy — e~ 2Y)dy (18)*

(3x+§)dx+(x7z+3x—y)dy =0(19)"
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y=Ce” (1)
1
y(x) = Cex (2)
xy =Ce*™Y (3)
yi+2xy—x?=C (4)



_ C2%x%-1
y(x) = —
Yy

y = Cex
y?—x*=Cy
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y(x) = —(x+21) +C(x + 1)

__ x+C

ex

y(x) = Cx+1)? +5 (x + 1*
y = Clnx + x3

s(t) = sint + Ccost

y(x) = ——

eX+Ce?x
1

(x+1)(n|x+1|+C)
e3x (xzy +%y3) =C
eY+eV—xeV=C

xy + ycosy — siny = C
xe?” —Inly| =C
x3y+3x2+y3=C

ory=0

y(x) = ory=0
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